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GS-II Government policies and interventions for development in various sectors and issues arising 

out of their Design and Implementation. 

1. If India needs to Achieve a $ 5 Trillion Economy by 2024-25, its manufacturing sector will 

need to Pick Up. In this context, Critically Analyze the ‘Make in India’ Scheme. 

Why this Question? 

• Performance of the Government Policy. 

Key Demands of Question:  

• Mention the India’s target to achieve a $ 5 trillion economy and mention the lack of growth 

in the manufacturing sector. 

• Mention the objectives of the Make in India scheme and its performance. 

• Discuss the improvements needed to address the issues in the scheme. 

Directive Word: 

Critically Analyze: 

•  When asked to Analyze, you have to examine methodically the structure or nature of the 

topic by separating it into component parts and present them as a whole in a summary. 

When ‘critically’ is suffixed or prefixed to a directive, one needs to look at the good and bad 

of the topic and give a fair judgement.  

• Whenever it is asking Critically Examine, Critically Comment or Critically Analyse just 

remember that you have to write both pros and cons and give a fair, unbiased or value 

loaded judgement. It should always give a closure feeling while examiner reading the 

answer. 

Structure of Answer:  

Introduction: 

• Mention the India’s target of achieving $ 5 trillion economy and also mention the stagnant 

growth of the manufacturing sector in India. 

Body: 

• Explain in brief about the despite high performance in ease of doing business, 

manufacturing growth has not taken place. 

• Explain in brief about the importance of the manufacturing sector in the economy. 

• Explain the objective of the ‘Make in India’. 

• Discuss the merits of the Scheme. 

• Highlight the various causes for the poor performance of the scheme like more relied on 

foreign capital, implementation deficit, etc. 
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Conclusion: 

• Conclude with the various measures needed to address the issue and the significance of the 

Manufacturing Sector to the Economy. 
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